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	KQ1: What problems faced Elizabeth I in 1558?
	

	Elizabeth I’s personality as monarch (strengthens v weaknesses)
	
	

	The condition of government in 1558 – What was the Mid Tudor Crisis ?
	
	

	· Finance
	
	

	· Religion
	
	

	· Foreign Affairs
	
	

	· What problems did Elizabeth’s gender present for Elizabeth  ?
	
	


Specimen Question
How serious were the problems in foreign policy that faced Elizabeth I when she acceded to the throne in 1558?


June 2009 

How serious were the problems Elizabeth I faced in 1558?



June 2010

“ Foreign Affairs were the most serious problem Elizabeth I faced in 1558.” How far do you agree?



June 2011

How serious were the problems faced by Elizabeth in 1558?


January 2012
 How successful was Elizabeth I in dealing with the problems she faced between 1558 and the end of 1563 ?


Jan 2013

The most serious problems facing Elizabeth in 1558 were religious? 
How far do you agree ?



	KQ2: What was the importance of the court and ministers in government? 
	

	The role of the Privy Council in the system of government.
	
	

	Ministers.
	
	

	Factions.
	
	

	Court and The Patronage System.
	
	

	Local Government (as context only).
	
	


The table below shows questions that came up on the old OCR paper in a very similar unit.

	June 02
	How effectively did Elizabeth I control her ministers ?

	Jan 04
	How important was the Council in Elizabethan government ? 

	June 05
	How successfully did Elizabeth I control her factions in her Court and government to 1603 ?

	June 07
	Assess the role of Elizabeth I ministers in her government to 1603.


January 2010
How important was the Privy Council in the government of England during the reign of Elizabeth ?


January 2011 

How successfully did Elizabeth I handle factions in her court and government?


June 2012
How important was the Court during the reign of Elizabeth ?


June 2013

How effectively did Elizabeth I control her ministers ?



	KQ3: How far did the nature and role of Parliament change? 
	

	The roles of the House of Commons and House of Lords in the Tudor system of Government.
	
	

	The Historical Debate – How far did Elizabeth’s relations with parliament change ?

Was co-operation or conflict the dominant theme of Elizabeth’s relationship with her parliaments ?
	
	

	· Religion.
	
	

	· Marriage and Succession.
	
	

	· Parliamentary Privileges.
	
	

	· Monopolies.
	
	


The table below shows questions that came up on the old OCR paper in a similar unit.
Pre- 2009 Questions

	Exam Season
	Question

	Jan 02
	Should co-operation or conflict be seen as the dominant theme of Elizabeth’s relationship with parliaments ?

	Jan 03
	How convincing is the claim that Parliament became more powerful in Elizabeth’s reign ?

	Jan 04
	Assess the claim that parliamentary privilege was the most important cause of problems between Elizabeth I and Parliament.

	Jan 05
	Which was more important in Elizabeth’s reign, the House of Commons or the House of Lords ? Explain your answer.

	June 06
	How far do you agree that Parliament mostly co-operated with Elizabeth I ?

	June 07
	How far do you agree that parliamentary privilege was the most important cause of disputes between Elizabeth and parliament during her reign ?

	June 08
	How far did Elizabeth control the House of Commons throughout her reign ?


Specimen Question

How far do you agree that Parliament mostly co-operated with

Elizabeth I? Explain your answer.


.

January 2009
“Co-operation rather than conflict.” 

Assess this view of Elizabeth’s relationship with her parliaments.



June 2009

 How successful were Elizabeth I and her ministers in managing parliament ?


June 2010

To what extent did the power of Parliament increase during the reign of Elizabeth I ?



January 2012 
How far was Parliament able to increase its role and influence during the reign of Elizabeth I ?


Jan 2013

“Parliamentary privilege was the most important cause of problems between Elizabeth I and Parliament” How far do you agree ?



	KQ4: How successfully did Elizabeth I deal with the issue of succession? 
	

	Why was the succession such a controversial issue in Elizabethan England ?
	
	

	The attitude of the monarch, government, and parliament towards marriage.
	
	

	Elizabeth I as ‘Virgin Queen’ – in what ways was spinsterhood an advantage to Elizabeth’s monarchy.
	
	

	Mary, Queen of Scots.
	
	

	James VI of Scotland.
	
	

	The succession as an issue in domestic and foreign affairs.
	
	


January 2009

Assess the reasons why the issue of succession caused domestic and foreign problems for Elizabeth I.



January 2010

How successful was Elizabeth I at dealing with the issue of the succession during her reign ?


January 2011

Assess the reasons why the issue of Elizabeth I’s marriage and the succession caused disputes during her reign.


June 2011

How effectively did Elizabeth I handle the issue of succession during her reign?


Jan 2013

Assess the reason why the issue of the succession caused so many problem for Elizabeth I throughout her reign. 


June 2013

How far did the issue of marriage and succession affect Elizabeth I’s foreign policy from 1558 to 1587 ?



	KQ5: How successfully did Elizabeth I handle financial and economic affairs? 
	

	Elizabeth’s financial inheritance.
	
	

	Problems of inflation.
	
	

	Sources of crown income (including purveyance).
	
	

	Methods of handling finance and the economy.
	
	

	Monopolies (please see KQ3).
	
	

	Overseas trade.
	
	

	Elizabeth’s financial bequest – A poisoned chalice ?
	
	


The table below shows questions that came up on the old OCR paper in a similar unit. Note that these focus just on finances. You need to know about trade and the economy as well.

	Exam Season
	Question

	June 03
	How successfully did Elizabeth deal with her financial problems ?

	Jan 06
	How well did Elizabeth I’s government handle its financial problems ?


January 2010 

“Inflation was the most serious financial problem facing Elizabeth I and her government” How far do you agree ?


January 2011

How successfully did Elizabeth I handle the financial problems she faced?


January 2012

 Assess the causes of Elizabeth I’s financial problems ?


June 2012
 How serious were the financial and economic problems during the reign of Elizabeth I ?



	KQ6: How far did the popularity and effectiveness of Elizabeth I’s government decline after 1588? 
	

	The domestic effects of war with Spain.
	
	

	The Irish rebellion.
	
	

	Essex’s rebellion.
	
	

	Relations with Parliament (please see KQ2).
	
	

	Economic and social problems after 1588.
	
	

	The Queen’s reputation at the end of the reign.
	
	

	In what ways was England (and the institution of monarchy) stronger and weaker in 1603, when compared to 1558 ?
	
	


Specimen 

Assess the claim that the rebellion in Ireland was Elizabeth I’s most

serious problem from 1588 to 1603.


January 2009 

To what extent did the popularity of Elizabeth I and her government decline after 1588 ?


June 2009 

How effectively did Elizabeth I and her government deal with the problems they faced in the period 1588 to 1603 ?



June 2010 

“Rebellion was the most serious problem Elizabeth I faced in the period 1588 to 1603”. How far do you agree ?



June 2011 

“The popularity of Elizabeth and her government declined seriously in the period after 1558.” How far do you agree?


June 2012
“Elizabeth’s popularity declined dramatically after 1558”

How far do you agree ?



June 2013

How powerful was Elizabeth I at the end of her reign ?
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Students are reminded that the latest Ofqual pronouncements on examinations which instructed the boards that;


All parts of the course must be examined. 


No question should be (exactly) repeated.





Good Luck !





Unit One





 Specimen Paper – Examiner Guidance





Explanation of the problems of foreign policy at a specified point. No set answer is 


looked for but candidates will need to address the question.





England was at war with France and allied to Spain. The loss of Calais was unpopular in England. The Treaty of Cateau-Cambresis at the time threatened a Catholic alliance of France and Spain against English Protestantism and therefore Elizabeth I. Scotland was ruled by a young Mary Stuart who was allied to and under the influence of the French Guise family, a danger for England. Religion was important because Elizabeth could not afford to offend the powerful Catholic countries in Europe. Answers can explain the military weakness of England that


inhibited the Queen in her policies.





The most successful answers can be expected provide clear explanations of most of these issues and will assess their importance, or seriousness. These answers will be well structured. Candidates can link foreign policy to domestic issues, for example, a religious foreign policy was closely related to domestic issues: to ally with Spain would have alienated domestic Puritan opinion. However, candidates should be careful not to provide too much description of the domestic situation; this Question is essentially about


foreign policy. It will be relevant to note the inexperience of Elizabeth I at her accession. She was surrounded by men of strong opinions. Although the early Scottish crisis came after her accession, a brief mention perhaps in a conclusion will not necessarily be irrelevant because it demonstrated the dangers at the beginning of the reign. However, answers should not go further than the Treaty of Edinburgh (1560).
























































Unit Two





Unit Three





June 2009 Paper – Examiner Report





This was not a particularly popular question but a wide range of levels was seen. At the lower end candidates tended to either describe the methods used by Elizabeth to manage parliament or become embroiled in a description of the historiography surrounding Elizabeth and her parliaments, which frequently resulted in detailed descriptions of Neale and the Puritan choir. There were also some candidates who were confused between the terms Parliament, Government and Council. 





However, at the top level candidates were able to discuss the issues and many argued that Elizabeth was able to obtain supply, was successful in calming parliament over issues such as Monopolies and discussed her use of the royal prerogative and whether this suggested she was successful in managing Parliament. There were some answers which also considered the scale of the legislation that was passed and used this to argue that her management must have been successful.









































January 2009 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Historiography is not a requirement of AS and references to the views of historians are not necessary for any mark, although credit will be given for relevant references. There are a number of areas that candidates might consider when discussing the view that conflict was more pronounced, these are likely to include the issues of parliamentary privilege, religion, especially the religious settlement and the activities of the Puritans, the problem of Mary Queen of Scots, marriage and succession, foreign policy at certain times and financial aspects, such as monopolies. Parliament was a sounding board and allowed the monarch to discover the views of the political elite and for them to take back the laws that they had to impose. However, this might be balanced by the argument that as MPs became better educated they were increasingly able and willing to challenge the control exercised on parliament through Privy Councillors and the Speaker. This may be supported by the argument that parliament was growing in assertiveness and that were anti-government views in the Commons, particularly from the puritan members. There might be discussion of the so-called Puritan choir and their impact and importance. Some may argue that they did not exist, there was no party and few were puritans pushing their religious views, but others may argue they were an active and well-organised lobby that created problems for Elizabeth. Some answers might consider the role of the House of Lords, which helped the queen in the 1590s over subsidies. The presence of Cecil in the Lords from 1572 may also have helped to ensure that there was co-operation. At the highest levels some answers might show that parliament spent longer discussing local issues and those bills were often assed with few problems. Some answers may place parliament in the wider context of the government of England that it was a only a secondary instrument in the governance of the nation, which could be ignored by the court or council or that it was still an irregular part of government.





Unit Four





Specimen Paper – Examiner Guidance





How Far ?...means that candidates should consider the stated factor of co-operation but also examine alternative explanations. They may, or may not, agree with the prior importance of the claim in the question. This will affect the balance of the question but Band 3 will normally require an adequate paragraph on the stated factor. 





It will probably not be advisable to take a chronological approach but answers that do so should not be underestimated and consigned automatically to a lower band. A potentially better and perhaps more manageable approach might be to look at examples of co-operation and disputes and weigh which were more important. Many candidates might find it easier to challenge the claim in the question. It is easy to support their viewpoint by referring to the making of the religious settlement, pressures on Elizabeth I to marry and to execute Mary, Queen of Scots, disputes over Puritan demands and Parliamentary freedoms, and the unpopularity of monopolies. On the other hand, most members of both Houses were loyal to the Queen and deferred to her monarchy. Disputes were often with a minority. (Some would claim that heated debates were sometimes the result of councillors wanting to pressurise the Queen rather than spontaneous examples of opposition.) Peter Wentworth was arrested by order of the Commons and he always protested his personal loyalty to the Queen.





The crown had the means of encouraging obedience, for example in the appointment of the Speaker and by the leading presence of ministers. Elizabeth was usually able to defuse trouble by concessions, as well as by more forceful vetoes.






































Unit Five





Unit Six





Specimen Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Candidates might argue that other problems were more serious; this will allow them to give less attention to Ireland. However, marks in Band 3 and above will need an adequate understanding of this factor. As a broad guide, one substantial paragraph will be the minimum requirement to demonstrate this adequate understanding. Elizabeth faced considerable trouble in Ireland especially in the 1590s with the resistance that was led by O’Neill, Earl of Tyrone. Ireland was in disorder and there was a real danger of support for the rebels from Spain, which launched two abortive Armadas. Essex’s attempt (1597) to suppress the rebellion proved fruitless, but Mountjoy succeeded in restoring order by 1601. The Irish Rebellion was a very serious financial problem as well as a major military difficulty. The range of other problems that might be discussed is wide and examiners should look first at what is discussed before looking for gaps. Candidates might consider the war with Spain. The 1588 victory against the Armada was not followed by similar successes. Elizabeth I and England survived but the war was expensive and largely unproductive. Answers might examine increasing financial problems and unrest in Parliament. Reference might be made to the Parliaments of 1597 and 1601. The success of the ‘Golden Speech’ concealed the concessions that the Queen had to make over monopolies. The 1590s were a period of social hardship, worsened by poor harvests. Elizabeth I was becoming isolated at court with the death of men such as Leicester and Burghley. Reference might be made to Essex’s rebellion (1601). Essex’s death removed a balance among her courtiers, many of whom were of a different generation. Religion was probably less of a problem in the 1590s but it might be assessed.



























































January 2009 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





In the last years there was immense strain on the system of government. By the end of her reign Elizabeth was isolated at court and in her government because her associates had either died or retired. There were many who waiting for a new king. The patronage system, in the hands of Robert Cecil, had broken down and this caused resentment. Nevertheless, she maintained a grip on affairs and her weakness and determination should not be underestimated. The last parliament did show a willingness of MPs to criticise her over a policy of monopolies that pointed directly at the crown. On the other hand, some will argue that her Golden Speech demonstrated her continued ability to diffuse opposition. It was really only after the 1601 parliament that she failed physically. The queen herself might have lost some popularity but the prestige of the monarchy was still high. The problems in the last years should be set alongside the achievements; she had brought about comparative religious peace, a stable ministry led by William Cecil and a forced peace on Ireland. Some might argue that the lack of unrest during the period suggests that the popularity of the government had not declined, particularly as the social and economic problems of the 1590s were severe. The lack of support for Essex’s Rebellion might also be used to support this view. Elizabeth was also still popular among the populace, although the legend of ‘Good Queen Bess’ had not appeared in 1603. However, at a local level officials found it increasingly difficult to cope with the financial and administrative demands placed on it and these pressures, in the 1590s coincided with the social strains caused by harvest failures, food shortages and increasing inflation, all of which decreased the popularity of the government. It might be concluded that Elizabeth had reigned too long and the succession of James was widely welcomed





June 2012 Paper – Examiner Guidance





At the higher levels candidates will need to address the question ‘how far’ and not simply list evidence for and against the view. At the end of the period Elizabeth did appear isolated at court and in her government as her older associates had died or retired and many were waiting for the arrival of a new king.





However, this can be balanced against the success of her Golden Speech, which demonstrated her ability to diffuse opposition. It could be argued that the last parliament showed the willingness of MPs to criticise her over the policy of Monopolies. Some might argue that after 1601 she did decline physically and that this did have an impact on her prestige. The problems of the last years should be set against alongside the achievements which would have maintained her popularity. It should not be forgotten that she had brought religious peace and this was still evident, there was a stable government under Robert Cecil and the ease with which the Essex rebellion was defeated could be used to show that she still had widespread support among the nobility. The lack of unrest, despite the severe social and economic problems, might also be used to suggest that she was still popular with the peasantry. Although the war with Spain was costly, Elizabeth was still seen as popular following the Armada victory and there was little opposition to the continued high levels of taxation to fund the war and deal with Ireland. 




















June 2012 Paper – Examiner Report





This question caused some difficulties. Answers focused on the causes of her declining popularity in the main. Some answers addressed the issues associated with her age, the loss of her old counsellors and the increasing number of eyes looking northwards to James VI. Many thought the war with Spain started the drop in popularity, with some missing the propaganda value of the defeat of the 1588 Armada





 Many considered that the Irish rebellion caused her to be unpopular but didn’t necessarily make an appropriate link and similarly with the Essex rebellion overestimating his support in 1601 though again better answers were aware that the mob deserted him. Monopolies also caused some loss of popularity but the Golden Speech restored it to a degree. Exactly how much is difficult to measure. Many were able to discuss the issue of social problems with some suggesting that the food riots and the Oxfordshire Rising were clear evidence of declining popularity, without seeing that these were not really aimed at her, whilst others suggested that government policies to deal with the social and economic problems helped to maintain her popularity. 





Answers here were often disappointingly thin with some lingering over a description of the defeat of the Armada, while ignoring events such as the monopolies debates, the Golden Speech, faction in the council, Essex’s rebellion and the succession issue. The question does encourage candidates to make unfounded statements on Elizabeth’s popularity. A common fault is to regard Ireland as foreign.














June 2009 Paper – Exam Report





At the lower end candidates either described the problems that Elizabeth faced without assessing their seriousness or indulged in speculation about the seriousness without factual support for their ideas. 





There were also some candidates who went well beyond 1558 in consideration of the problems. Many chose to emphasise the seriousness of the problems created by the make-up of the Privy Council in 1558 and by addressing this first and at length gave the impression that this was the most serious issue despite being unable to supply any supporting evidence to substantiate it. 





There were a number of candidates who mishandled the loss of Calais and suggested that it meant that England was under imminent threat of invasion, even suggesting ‘All invasions came through Calais.’ There were other answers which did not see religion as a problem and argued that England was willing to embrace Protestantism and was simply waiting for Elizabeth to come to the throne.


















































June 2009 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question. There are a wide range of issues that candidates might consider and it is unlikely that they will be able to cover them all, what matters is the quality of analysis. 





Elizabeth’s position in 1558 was very vulnerable. She was not seen as the legitimate ruler by Catholics both at home and overseas. As a result Mary Queen of Scots was seen by many as the rightful ruler and her links with France further weakened Elizabeth’s position. England was also at war with France in 1558 and this added to the danger and was made worse when Spain made peace with France as this isolated England and left them open to the possibility of a Catholic crusade. However, this problem should not be exaggerated as it was unlikely that Philip would help to put a pro-French ruler on the throne of England. Philip even offered his hand in marriage to Elizabeth, so provided she did not alienate him her position was more secure. It was possible that there might be a Catholic rebellion at home, but without foreign leadership this was less likely and the Papacy failed to give a lead, hoping that Elizabeth might rejoin the catholic fold. It was expected that Elizabeth would marry and that raised a number of issues over the choice, foreign influence and faction if she chose to marry an Englishman. However, she was also able to use the prospect of marriage as a tool to strengthen her position and buy time to secure her position at the start of her reign. The problem of the succession was crucial and parliament asked her in 1559 to name a successor. She also had to overcome the prejudices against female rulers following the reign of Mary, which had been reinforced by the disasters of the latter years of her reign. She also had to overcome the popular stereotype of women, which emphasised their physical, emotional and intellectual inferiority to men. There were social and economic problems to be dealt with in the aftermath of Mary’s reign. The reign also began with war against France and this created major financial problems.















































June 2009 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Candidates may argue that relations with parliament were usually good; however there were disputes over marriage and the succession, but this was when parliamentary opinion was closer to that of the Privy Council than the Privy Council was to the Queen. These harmonious relations were reinforced by good parliamentary managers such as Mildmay and Norton. Most MPs knew that there were certain boundaries which they could not cross by expressing their opinions. It could be argued that such limitations on the manner of debate caused far less trouble than the Queen’s use of prerogative to prevent debate on issues she considered too sensitive. This point of view might lead some to conclude that parliament was a subordinate body, but this might be balanced by the view that parliament had evolved and grown in political importance and was able to seize the political initiative at the expense of a tired and increasingly incompetent government – to sustain this view answers might focus on the 1590s.





Some candidates might draw attention to the times there were conflicts, such as the succession and the execution of Mary Queen of Scots, however this could be balanced by noting that most legislation was local and passed with little debate. It is possible that some answers will consider the methods used to manage parliament, such as starting debate in the Lords, where after Cecil’s appointment, there was a minister to lead debate.





Answers might argue that MPs were becoming more educated and therefore were increasingly able and willing to challenge the control exercised on parliament through Privy Councillors and the Speaker. In addition they might argue that there were a growing number of Puritans in parliament who used it to try and bring about changes to the religious settlement. It should be remembered that Elizabeth still had the power to summon, prorogue and dissolve parliament when she wanted and that her ability as a speaker, as with the Golden Speech of 1601 was sufficient to win support. Most parliamentary business was completed without fuss, but at other times there were crises, but they were usually worked through without too much trouble.









































June 2009 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





There are a large number of problems faced by Elizabeth and her governments in this period and examiners should not expect candidates to consider all of them, although a reasonable range is expected for the highest levels, what matters is the quality of analysis. The specification mentions a number of issues that might be found in answers: the defence of the royal prerogative, relations with parliament, the effects of the war with Spain, the Irish Rebellion and the Essex Rebellion. The Irish Rebellion was the heaviest expense of the reign and this and its length might lead candidates to argue it was not handled well, but it was eventually defeated and order was restored under Mountjoy. The Essex Rebellion was crushed easily, but some might argue that its occurrence ended the possibility of maintaining a balance between factions and that Robert Cecil would now dominate. There were conflicts between the Queen and her parliaments about monopolies and the crown’s request for supplies, but neither weakened the Queen significantly and the Golden Speech might be used to show that she was still able to handle parliament well at the end of her reign. Financially it might be argued the Crown did not deal successfully with problems and income did not keep up with inflation. Some candidates might point to the social problems of the 1590s, which were severe, yet the government never faced the unrest of the 1540s and it appeared as if their legislation had been successful.



































June 2009 Paper – Examiner Report





There were a number of candidates who wrote about the whole period, reading 1558 for 1588 even if they had answered question 13. 





However, there were a significant number of candidates who produced some wide-ranging and well-focused analytical answers. There was a wide range of issue available for candidates to consider and it was not expected that all were dealt with in detail. It was surprising that a number did not deal with the issue of the Armadas, although some did link this to the financial problems faced. Many were able to discuss the problem of rebellion, both within England and Ireland and usually argued that the government was very effective in dealing with the problem in England, shown by the small numbers despite the economic problems, but were less successful in tackling the problem in Ireland. 





There was usually consideration given to Elizabeth’s relationship with parliament and this provided a variety of responses, some arguing that she was not effective in dealing with opposition to Monopolies and others pointing to the Golden speech. Some better answers also gave consideration to the success of government legislation in tackling the social and economic issues created by the poor harvests of the 1590s. The question gave candidates the opportunity to make links between factors and this often done successfully, allowing candidates to access high levels on AO1b. There were some candidates who adopted a historiographical approach and this was successful where they avoided simply describing the views of historians such as Haigh.





























January 2010 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Candidates will need to consider the role of the Privy Council in the government of England, but this should be weighed up against other elements of government in order to reach a judgement about its relative importance. It is likely that many will write in greater depth about the role of parliament and some may be sidetracked in to the debate about parliament. Better answers might also consider local government and the role of JPs etc.























January 2010 Paper – Examiner Report





It was pleasing to see that a topic which has in the past attracted some very weak answers, where knowledge about the Privy Council is, at best, generalised and more frequently confused, did produce some excellent answers this time. 





There was evidence of knowledge of both specific individuals and of their relationship with each other and as the Councillors with the Queen. Most answers showed an awareness of the regularity of the Council’s sessions and the Council’s ability to pressurise the Queen. Weaker answers often saw either party accepting the lead of the other as weakness, as if the relationship was entirely oppositional. There were still a few candidates who confused Council and Parliament. The issues of Elizabeth’s marriage and the question of Mary Queen of Scots were the principal examples used to discuss and debate the relationship between Elizabeth and her Council.




















January 2010 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





There is a range of financial problems that candidates can consider, but they must give due attention to the named factor, even if they argue that it was not the most important. Inflation had a major impact on crown revenue and impacted on the cost of warfare, which would be a major item of expenditure at the end of the period. Inflation also had an impact on taxation returns, although some may suggest that it was Elizabeth’s failure to update assessments that was the bigger problem. Some may consider the problem of crown expenditure and selling of crown lands, others may look at customs or monopolies as issues.














January 2010 Paper – Examiner Report





Most candidates were able to discuss a range of financial problems, although the degree of detail and precise support varied considerably.





There was usually a reasonable understanding of inflation, re-coinage was mentioned, but knowledge of earlier policies was thin and frequently inaccurate. Many answers argued that the cost of war was the most serious financial problem and were usually able to support this view with reference to the cost of the Spanish conflict and how it contributed to the debt Elizabeth left. The question of the taxation system was often well explained and the problems this created was often supported by reference to Cecil’s self-assessment for the subsidy. This was the ideal opportunity to link inflation and the problems of the tax system, but few seized the chance.











January 2010 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





The issue of the succession concerned many, but Elizabeth did not want the matter discussed by parliament and did not want to name a successor. Candidates might argue that parliament did try to discuss the issue, but were largely unsuccessful in getting any answer from Elizabeth. Some answers might argue that Elizabeth handled the situation very well, given the fact she was seen as illegitimate by some. They may point to her handling of the issue of Mary Queen of Scots, who was the potential heir, but by not naming her it discouraged attempts to hasten her accession. Elizabeth was also masterful in exploiting her position as the ‘Virgin Queen’ and candidates might consider the various marriage proposals and how well they were handled and exploited by her. There might be some consideration of the last years and the position of James VI.








January 2010 Paper – Examiner Report





This was a popular question and, as might be expected, it attracted a range of responses.





Most who attempted it were able to make reference to the problem of Mary Queen of Scots and the naming of a successor. However, there were few answers that really reached a judgement as to Elizabeth’s success. It could have been argued that her policy was a success, marriage was not for Elizabeth and that given the pressures she handled the situation well. However, some did argue that Elizabeth was merely lucky, given her position as illegitimate in the eyes of many Catholics. There was often reference to the scare that her contraction of smallpox generated, but there was little on the fears of the Council and supporters and how precarious the sense of Tudor England was. The spell of Elizabeth’s survival and therefore success attracted a significant number without really discussing the issues in detail.





January 2009 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





It was expected that Elizabeth would marry on her accession, but the problem was whom to marry? Candidates are likely to be aware of many of the suitors but each of these presented insuperable difficulties of religion, age and even mental stability. Some may argue that proposals from Philip of Spain and Charles IX of France had to be handled very carefully because of the power of their countries and therefore her foreign policy had to be careful, but candidates could balance this against the fact that Elizabeth could play off the two countries against each other, making it less of a problem. The succession was an important issue because of the claim of Mary Queen of Scots as it raised major problems concerning religion and relations with both France and Scotland. Her French links proved a threat, whilst she was also a possible centre of opposition for Catholics both at home and abroad. There was the problem of the suitability of any domestic suitors, particularly following the death in suspicious circumstances of Dudley’s wife. If Elizabeth married at home it would raise the issue of faction and the dominance and rewards that would go the family. In the same way there was concern that an overseas marriage would lead to influence and dominance from abroad, memories of Mary’s marriage to Philip and the French war still influenced many.





January 2009 Paper – Examiner’s Report





No report – insufficient candidates





January 2009 Paper – Examiner’s Report





No report – insufficient candidates





January 2009 Paper – Examiner’s Report





No report – insufficient candidates





January 2011 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Candidates will need to show a basic understanding of the concept of faction in order to answer the question, but many find this difficult and it should be remembered that this is an AS examination. Some answers might interpret faction too broadly and include Puritans and therefore discuss their impact on the effectiveness of government. Candidates can examine Elizabeth’s methods and policies in dealing with factions. They might examine the struggles between the Cecil/Burghley and Leicester groups and then between Robert Cecil and the Essex groups. There were few problems until the Essex rebellion, which left Cecil unchallenged. Elizabeth tried to use patronage to create loyalty to herself and to avoid the emergence of an over-mighty minister. William Cecil was eminent but not pre-eminent. At the top level candidates might point out that some factions co-operated against the Queen; Cecil and Leicester were not always rivals. Elizabeth was sometimes isolated, for example over Mary Queen of Scots. Candidates might conclude that Elizabeth was mostly but not always successful.





January 2011 Paper – Examiner’s Report





No report – insufficient candidates





January 2011 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.


It was expected that Elizabeth would marry on her accession, but the problem was whom to marry? Candidates are likely to be aware of many of the suitors but each of these presented insuperable difficulties of religion, age and even mental stability. Some may argue that proposals from Philip of Spain and the Dukes of Anjou and Alencon had to be handled very carefully because of the power of their countries and therefore Elizabeth’s foreign policy had to be careful. Candidates may also discuss the issue of Elizabeth’s prerogative and her unwillingness to allow parliament to discuss the issue. The succession was an important issue because of the claim of Mary Queen of Scots as it raised major problems concerning religion and relations with both France and Scotland. Her French


links proved a threat, whilst she was also a possible centre of opposition for Catholics both at home and abroad. There was the problem of the suitability of any domestic suitors, particularly following the death in suspicious circumstances of Dudley’s wife. If Elizabeth married at home it would raise the issue of faction and the dominance and rewards that would go to the family. In the same way there was concern that an overseas marriage would lead to influence and dominance from abroad: memories of Mary’s marriage to Philip and the French war still influenced many.





January 2011 Paper – Examiner’s Report





No report – insufficient candidates





January 2011 Paper – Examiner’s Report





No report – insufficient candidates





January 2011 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Candidates may consider the financial problems that Elizabeth faced, discuss the methods she adopted and assess their success. At the lower end candidates might focus more on general economic issues such as the slump in trade and the poverty of the lower orders. Candidates can explain the sources of royal income – crown lands, justice fines, levies on trade- these could not easily be increased and it was a time of inflation. Parliament did grant additional taxation but Elizabeth was reluctant to call it as some members demanded concessions as the price of grants and taxes were unpopular. She was reluctant to introduce financial innovations. Her court and personal expenses might seem to be extravagant but in fact they did not represent a heavy expense. Many of her clothes and much of her jewellery were presents. She was economical, even mean, in spending money and hated commitments that would involve expense, such as aid to the Dutch rebels. By 1588 she had, unusually in Europe, accrued a small surplus but the expenses and her consequent financial problems grew in the 1590s because of war and the worsening economic situation that affected her sources of income. There was considerable debt when she died. Credit candidates who contrast the success of the early period with later failures.





June 2010 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





The question requires candidates to consider a range of problems that faced Elizabeth on her accession. The specification mentions the condition of government, finance, religion and foreign affairs, although other problems such as social and economic and Elizabeth’s legitimacy might be raised. The foreign situation was delicate as catholic powers did see Elizabeth as illegitimate and might undertake a crusade, it might also be noted that England was at war with France and that the situation became more dangerous with peace between France and Spain in 1559. However, it is possible to balance this by considering Philip’s need of Elizabeth’s support and his preference for her ruling, rather than the French influenced Mary Queen of Scots. This problem might also be linked to the religious situation. Elizabeth had protestant tendencies, but given the foreign situation and support for Catholicism it was difficult for her to impose the settlement she wanted. This might be developed and mention made of the problems she had and actions she had to take to achieve her settlement. Government was an issue as the size of the Privy Council had grown and this limited its efficiency, but Elizabeth also had the problem that many councillors were catholic. There was also the problem of support for her and her need to win over some of the more moderate Catholics. There might also be a discussion of the economic problems Elizabeth inherited; this might include disease and bad harvests.





























June 2010 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Examiners need to be aware of candidates answering a different question on the issue of conflict or co-operation and being dragged into the historiographical debate between Neale and Elton, which is often just descriptive of their views. Candidates do need to address the issue of power and this often causes difficulties as Parliament was still not a regular or permanent part of the constitution. The Queen could summon, dissolve and prorogue parliament when she wished. Although Parliament was involved in the religious settlement and therefore appeared to be continuing the involvement it had under Henry, it might be noted that even here Elizabeth limited their role later in the reign when some tried to discuss religious issues. It might also be noted that Parliament failed in its attempts to get Elizabeth to name a successor or in discussions over the queen’s marriage and this might be used to show that their influence, yet alone power was limited. There might be some consideration of attempts to link supply to redress of grievance, but even this failed. Some might argue that the issue of Monopolies showed that Parliament had some power, but even here Elizabeth made few concessions and the Golden Speech might be used to show how Elizabeth was still able to manipulate parliament. Some might also suggest that the government was able to get its own supporters elected and that would limit parliamentary independence.























June 2010 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question.





Elizabeth faced a wide range of problems in this period and candidates do not need to consider all of them to access the higher levels, what is important is the quality of analysis. Candidates may argue that rebellion in Ireland was the most serious problem because of the cost, the time it lasted and the problem of controlling Essex. However, this might be balanced against the lack of threat provided by both the Oxfordshire and Essex risings. Candidates may consider other issues such as the war with Spain, the debate over monopolies and other financial concerns. Some answers may pick up on the social and economic problems of the 1590s, which were the most severe of the century and argue that food shortages and bad harvests were the most serious as people died from hunger. There may also be consideration of the popularity of the Queen, although some may argue that this was not a problem, as was shown by her Golden Speech.




















June 2010 Paper – Examiner Report





A popular question which posed few problems for candidates. A lot of candidates were able to look at different problems faced by Elizabeth in turn. The narrow scope of the question appeared to concern a few, with a lot of candidates finding it difficult to assess how serious problems were in 1558. A good number of candidates examined the seriousness of the problems across the first ten years or so of her reign. However, even weaker candidates were able to discuss Elizabeth’s inherited war with France and the potential danger posed by Spain. Mary Queen of Scots featured in most answers, usually in the context of the ‘Auld Alliance’, but better answers treated Mary separately in relation to Elizabeth’s legitimacy. However, some points were handled less effectively. Too much emphasis was placed on the Marian exiles as potential troublemakers in 1558. In some cases, candidates contradicted themselves by acknowledging their limited numbers. In others, they were treated as the principal domestic obstacle Elizabeth had to overcome in order to secure the religious settlement – a flawed interpretation when the majority of the population were Catholic. Indeed, few answers acknowledged the seriousness of the problem posed by the population’s Catholic sympathies. Some of the highest-scoring essays argued that this problem was more serious in northern England, where religious beliefs were more traditional, than in the south-east, where Protestantism was more popular. Too many answers described England as a Protestant country in 1558.





The problem posed by the makeup of the Privy Council in 1558 appeared in many answers, but analysis of it lacked detailed knowledge. In general, candidates were unable to name Mary I’s privy counsellors who were still in office in 1558, and discussion of Elizabeth’s new appointments was restricted to Leicester and William Cecil, if any individuals were named at all. The significance of this problem in 1558 is debateable. In an age when the monarch was surrounded by favourites, most leading courtiers would have surely assumed that Elizabeth’s accession would have been accompanied by a change in personnel. Stronger answers linked this problem to the issue of religion, but it was usually done in a vague and less effective way. Weaker answers talked generally about the importance of the Privy Council but were unsure how far to press the point; clearly, in these cases, teachers had included it in a list of problems facing Elizabeth in 1558, but the students did not fully understand why.





Many candidates included the succession as a problem in 1558. Whilst the question of marriage was certainly important, the succession only became a pressing issue as the reign progressed. In 1558, Elizabeth was only (just) 25 and had plenty of child-bearing years in front of her. To argue that the succession was a prominent problem in 1558 – as some candidates did – suggests a certain amount of misunderstanding of this part of her reign. The focus of some essays was too narrow. Clearly, an answer to this type of question, which expects candidates to evaluate the importance of a range of problems, requires an assessment of more than just foreign affairs and another point. Finally, most candidates were able to link foreign affairs, marriage and Mary Queen of Scots to religion. Despite this, religion was not always seen as the most serious problem.




















June 2010 Paper – Examiner Report





This was not a popular question. Nearly all answers contained some reference to John Neale and the ‘Puritan Choir’. The best answers expressed a broad understanding of Neale’s argument, which was very refreshing. (It isn’t always clear that candidates who refer to the ‘Puritan Choir’ fully understand its implications.) These candidates were able to link it to this question by attributing the growth in Parliament’s power to Elizabeth’s predecessors’ need to use it in order to legitimise their changes to the country’s religion. Thus, when Elizabeth acceded, Parliament had already become indispensable to the exercise of monarchical power. Elizabeth’s task was to control Parliament, which she did successfully until the final years of her reign when her power was waning. In contrast, weaker answers were distracted by Neale’s ‘Puritan Choir’ and became bogged down in discussion of the nature of the religious settlement. It was not uncommon to find answers that lacked focus. Detailed knowledge of MPs’ challenges to royal authority was frequently lacking; the Wentworth brothers were often executed instead of imprisoned and the dates and details of Peter Wentworth’s run-ins with the queen were often confused. Too many candidates possessed insufficient knowledge to analyse these incidents effectively; William Strickland, for example, hardly appeared. Some candidates confused Parliament with the Privy Council, a mistake that seems to occur each session. Many candidates presented Mary Queen of Scots’ execution as an example of a parliamentary victory over Elizabeth; by doing so, they failed to acknowledge the role of the Privy Council in the affair.





It would have been pleasing to see some candidates whose knowledge of historiography (although not a requirement at AS Level) stretched beyond Neale and his ‘Puritan Choir’. Whilst the majority of candidates continue to have some knowledge of Neale’s thesis (even if it is only basic), few can elucidate the views of Norman Jones or Geoffrey Elton beyond saying that they are right and Neale is wrong.





Weaker answers spent a side of often only assertion that Parliament’s power increased followed by half aside saying it declined. There was misunderstanding of the role and function of Parliament, though the Privy Council seemed better understood than in previous paper and many were aware of the use Elizabeth made of her councillors to manage the Commons and Lords. A number had learnt the statistics on the number of sessions during the reign and which ones voted subsidies but did not always use this evidence.




















June 2010 Paper – Examiner Report








This was a very popular question. Some candidates assessed the different problems facing Elizabeth (normally Ireland, Essex, poor harvest, complaints about monopolies) solidly. A good number of candidates failed to read the question properly and covered events from the earlier part of her reign, particularly the Northern Rising and the Babington Plot. The war with Spain and the Cecil v Essex rivalry, prior to the Essex rebellion, did not get much attention paid to them.





As ever, the weaker answers gave a description (sometimes brief) of events, couple with assertions. Better answers discussed Tyrone’s rebellion in Ireland, the support and 12,000 troops that he gathered, the English defeat at Yellowford, the 1601 Spanish landing at Kinsale, many realising that the rebellion continued past Eliz’s death and which in turn sparked the Essex rebellion and decided in fairly equal measure as to which was the more serious and why. Some of the better answers also linked the unrest in Ireland and the Essex rebellion by describing how Elizabeth’s punishment of Essex for agreeing a truce with Hugh O’Neill provoked the earl’s revolt. Some candidates effectively argued that the Irish rebellion was not a serious problem per se; it was Hugh O’Neill’s relationship with Philip II that intensified the situation, since Ireland could be used as a launching pad for a Spanish invasion. Some answers tried to compare rebellion with the social and economic trends and issues that led to incidents such as the London food riots and the Oxfordshire risings that dominated the 1590’s though few realised that this was across Europe. Monopolies and the emergence of new blood at court were also discussed.





Only a small number of answers referred to the Armada in anything beyond a sentence and very few discussed the 19 year war with Spain and its impact.














June 2011 Paper – Examiner Guidance








No set answer is looked for but candidates will need to address the question. The issue of the succession concerned many, but Elizabeth did not want the matter discussed by parliament and did not want to name a successor.





Candidates might argue that parliament did try to discuss the issue, but were largely unsuccessful in getting any answer from Elizabeth. Some answers might argue that Elizabeth handled the situation very well, given the fact she was seen as illegitimate by some. They may point to her handling of the issue of Mary of Queen of Scots, who was the potential heir, but by not naming her it discouraged attempts to hasten her accession. Some might develop the issues raised by Mary’s execution.





Elizabeth was also masterful in exploiting her position as the ‘Virgin Queen’ and candidates might consider the various marriage proposals and how well they were handled and exploited by her. There might be some consideration of the last years and the position of James VI.











June 2011 Paper – Examiner Report





Weak candidates sometimes exhibited a classic pattern of error in attempting to address this question. They wrote about what Elizabeth did and not what the problems were. Many, better focused, described the problems rather than assessing seriousness. 





Finding criteria to assess seriousness was particularly challenging. Some candidates failed to focus on 1558. Some drifted to the end of 1559, by which time the Religious settlement was in place, and the international position had changed greatly with the Treaty of Câteau Cambrésis. These changes could be used to highlight the situation in 1558, but sometimes just showed a vagueness of knowledge. 





More seriously still, some candidates went through the reign, to Elizabeth’s generally. The best answers covered disputes at court, in Council and Parliament as well as within the political nation in the counties. Valid explanations of the foreign situation were at a premium as most considered that Spain posed a serious threat in 1558-9 because of Elizabeth I’s Religious Settlement, unaware of the threat Mary, Queen of Scots as queen would have posed to Philip’s Empire and borders and of his support for Elizabeth in Rome delaying the Bull of Excommunication. Too often candidates attempting this sort of question are hampered by an absence of knowledge of the situation in Europe. Good candidates had no such problems. 





Coverage was broad ranging from political, dynastic / gender issues, foreign and socio economic after the 1550 cloth trade collapse, the need to reform the coinage, the inherited debt and the famine and disease of the 1550s.








June 2011 Paper – Examiner Report








This question attracted a good number of answers, but a proportion of candidates found it hard to focus, and pulled in issues of marriage and control without explicitly linking them to the succession. 





There was a wide diversity of opinion over whether her policy of procrastination and refusal to name an heir was effective or not. Answers tended to be rather descriptive or assertive, when a discussion of the wisdom of these choices would have been much more effective. 





Some answers were pleasingly broad-ranging, indeed a minority became too vague, and some interpreted this as a general question on the effectiveness of Elizabeth’s government. One common pattern was descriptive answers of suitors with some analysis of the clashes with MPs and ministers wanting assurance of their careers. Better answers placed these issues in the context of other states and female rulers. 





There was discussion of the threats posed by Mary, Queen of Scots and the need to execute her, and Elizabeth’s procrastination. Many were unaware of the 1586 Treaty of Berwick that unofficially was interpreted as recognising James I as her successor but most were aware that he succeeded without a challenge.











June 2011 Paper – Examiner Report





This was relatively well handled, without any striking patterns of failure or success, with the possible exception of the issue of Essex. His dissatisfaction and rebellion tended by some to be seen as symptomatic of general unpopularity which in the case of his rebellion seems illogical, given the lack of support. That apart, various factors were addressed, with success according to candidates’ ability. 





Candidates tended not to have a full understanding of the Crown’s finances, the difference between Ordinary and Extraordinary Revenues and the fiscal and administrative weaknesses of the antiquated revenue system. This tended to weaken responses. Most were aware of the deaths of key ministers, the socio-economic crisis and possible mini ice age of the 1590s, The Irish and Essex rebellions and the issues of an ageing queen. Answers tended to be descriptive as assessing seriousness proved challenging, again limiting the quality of the responses.








January 2012 Paper – Examiner Guidance





At the higher levels candidates should focus on the question of ‘how successful’ and not simply list examples of success and failure. Candidates might start by identifying the problems that Elizabeth faced and then go on to assess how successfully she dealt with them. 





There are a range of issues that candidates might consider, but what matters is the quality of analysis. Candidates might consider the religious problem and argue that given the divided state of the nation Elizabeth did remarkably well to keep outward religious harmony with the settlement, others might suggest that she disappointed both Protestants and Catholics by the moderate nature of the settlement. It is likely that the issue of her legitimacy will feature in many answers and given the possible challenges to her position she was successful as she was able to avoid rebellion and unrest and secure the throne.





This might be linked to foreign relations. England was at war with France and Elizabeth successfully ended that, even if it meant recognising the loss of Calais; the war had been a drain on resources. Under Mary, England had been a close ally of Spain and Elizabeth was able to keep relations with Spain friendly at the start of the period. This was particularly successful as it made it less likely that France would invade in support of Mary Stuart. Elizabeth was also careful not to dismiss Philip’s marriage proposal too quickly. It might also be argued that Elizabeth dealt successfully with relations with Scotland, which could have been difficult given the ‘Auld Alliance’ and claim of Mary Stuart. Under pressure from her councillors she supported the Protestant Lords and this began the decline of French influence in the kingdom and would help to secure the northern border. Candidates might also consider the issue of faction and the composition of the Council. Under Mary this had become large, but Elizabeth reduced its size and made it more efficient, but at the same time included known Catholics, like Norfolk, provided they remained loyal. Some might also consider the financial inheritance, which was improved with the ending of the war.























January 2012 Paper – Examiner Report








As with the question on Mary, there were a significant number of candidates who described the problems that Elizabeth faced and did not address the issue of her success in dealing with them. There were also a number of candidates who went well beyond the dates in the question, some producing surveys of the whole reign, and they did not receive credit for the material. The most common feature was spending too long describing the problems and not enough time assessing whether Elizabeth was successful in dealing with it. Most candidates were aware of the range of difficulties she faced and were able to consider a range of issues, usually including foreign policy, religion, finance, government, and marriage and the succession. In places, some of the knowledge was quite generalised, particularly over foreign policy and religion. In dealing with foreign policy, knowledge of the peace with France was often lacking and details of the religious settlement were also absent when discussing the success of her religious policy.











June 2012 Paper – Examiner Guidance





At the higher levels answers should focus on ‘how important’ and not simply analyse the role of various institutions in government. In order to achieve Level III candidates must consider the role of the court, even if they conclude that other bodies were more important.





The court operated alongside the traditional institutions of government and it was the centre of power, ritual and celebration. A place at court was seen as essential for success since political advancement depended upon patronage which was ultimately controlled by the Queen. It might also be noted that many councillors were courtiers and therefore there was overlap and answers might mention men such as Dudley or Cecil. The court allowed the monarch to call leading subjects to counsel her. It was also important as it displayed the power and magnificence of the monarch which would impress her subjects on its travels and was therefore useful in maintaining stability and order. The importance of the court should be balanced against other institutions, this might include the Privy Council, parliament, local government and the law courts. The Privy Council was the chief administrative and executive body of the realm; it advised the monarch on policy, it ensured orderly government and security and considered petitions from private individuals. In considering parliament they might argue that it was less important and that the Queen had firm control over it, but this might be balanced against it legislative and financial role. There might be reference to the law courts, but their influence was variable, however they were important in preserving law and order. 























June 2012 Paper – Examiner Report





Too many candidates who attempted this question were ill-prepared to do so. This showed in both a lack of factual knowledge and a failure to demonstrate an understanding of the nature and functions of the Court. There was a cloud of mystery over the political role of the Court. It was frequently confused or conflated with the Council which was confused with the Privy Council. Parliament was rarely mentioned, although in some answers that was also confused with the Privy Council . Many answers discussed the importance of the monarch and individual ministers rather than the organs of government. 





It appeared difficult for many candidates to muster enough material for a viable answer and a lack of understanding of the crucial issue of ‘court’ meant that many answers were very weak and confused, yet this is a key feature in the indicative content of the Specification. There were brief references to faction, patronage, progresses and displays but with little if any link to government. Most drifted into a description of the privy council’s powers and influence. The courtiers mentioned were Burghley, Leicester, Raleigh and Essex.











January 2012 Paper – Examiner Guidance





At the higher levels candidates will need to address the issue of ‘how far’ and not simply list examples of where parliament did or did not increase its role and influence. Examiners should also note that historiography is not a requirement at AS, however where it is used to support an argument it should be credited, but candidates who do not mention the Neale/Elton debate should not be penalised. Examiners should also be careful not to over-reward candidates who simply describe the debate.





At the higher levels candidates might make a distinction between the Lords and Commons. Candidates might note that despite the more regular calling of parliament and their apparently increasing role, Elizabeth decided when to summon, prorogue and dissolve parliament and this in itself was a limiting factor. Candidates may make reference to a variety of issues, particularly religion, succession, freedom of speech and monopolies in considering whether parliament increased its role and influence. Some might argue that in nearly all instances it was the queen’s will that triumphed and suggest that this shows no increase in their role and influence. This might be taken further by candidates who argue that in sending Wentworth to the Tower parliament was disciplining itself, aware of Elizabeth’s reaction. Attempts to gain freedom of speech or attack Elizabeth’s prerogative ended in failure. Discussion of the succession and marriage was always curtailed and Elizabeth remained in control.





Some might argue that the latter period saw parliament increase its role in the Monopolies debate, but this can be balanced by the Golden Speech, showing how Elizabeth was able to regain the initiative, even in her later years. Parliament was unable to link supply to the redress of grievances, again suggesting a lack of influence. However, it might be argued that they did increase their influence as a sounding board for government policies and their involvement in a wide range of new social measures in the later part of the period suggests a new role. Some might also suggest that most of their time was spent dealing with local issues suggesting a lack of influence or that many of the debates were stage managed by Privy Councillors to try to get their way, again suggesting a lack of influence.























January 2012 Paper – Examiner Report





Questions on Elizabethan government have often produced weak answers, but this session saw many solid responses and some excellent answers. Most candidates avoided simply describing the historical debate and those who referred to historians were often able to use them to support their argument. It was encouraging to see that many candidates were aware that Parliament included the House of Lords as well as the House of Commons. The better answers focused on role and influence and considered a range of issues, however there were still a significant number who ignored Elizabeth’s right to prorogue or dissolve the house and therefore limit its role and influence. Many candidates displayed a very thorough knowledge of issues such as Monopolies, the execution of Mary Queen of Scots and the question of marriage and the succession. These events were often used to help construct an analytical answer, with many suggesting that its role and influence did not increase as it was summoned only when Elizabeth needed supplies and that she was usually able to get her way through a number of management techniques.














January 2012 Paper – Examiner Guidance








At the higher levels candidates should evaluate the relative importance of the causes and reach a balanced judgement, not simply provide a list of factors that caused the problems. There are many factors that candidates might consider and it is not expected that they will consider all, what matters is the quality of the analysis.





There may be consideration of the Marian inheritance and the cost of the war with France. The rising cost of warfare might also be considered in relation to both the long war with Spain and the cost of controlling and governing Ireland. The rising cost of warfare might also be linked to the problem of inflation, which was particularly acute during Elizabeth’s reign and had a serious impact on crown income.





The taxation system was outdated and new assessments were not undertaken and this meant that the Crown income suffered even more from the problem of inflation. Reliance on parliament for extraordinary income was not desirable and Elizabeth was sometimes reluctant to summon them, resulting in dependence upon ordinary income. There had been a decline in ordinary income as crown lands had been sold off to finance war and inflation reduced the real value of the income.





Attempts to raise money through schemes such Monopolies were unpopular and might be seen as another limiting factor. Customs had provided a significant source of income, but with war and the decline in the Antwerp market this was also in decline.




















January 2012 Paper – Examiner Report





This should have been a straightforward question, but a number of candidates wanted to describe the problems or drift into a general comment about the social and economic conditions prevalent in England with no link to the financial problems of Elizabeth. There were often lengthy descriptions of the population rise, poor laws and inflation without sufficient link to how they caused financial problems. The question also required candidates to evaluate the relative importance of the causes of her problems, but many answers did not go beyond a description and limited themselves to Level IV (grade D).














June 2012 Paper – Examiner Guidance





At the higher levels candidates should address the question of ‘how’ and not simply list the financial and economic problems. Candidates might argue that, until 1588, the financial problems were not serious and even afterwards they were handled well so they were not serious.





However, some may argue that they were serious as Elizabeth failed to tackle them and allowed them to worsen. This could be supported by the large debt of £350,000 she left her successor. Some might balance this against her inheritance and argue that because it was not much larger than the one she inherited and was considerably less than continental rulers the problem was not serious. The problem of the taxation system was serious as it had not been updated. It could be argued that by asking fewer to pay subsidies she made the problem worse. At the same time, Crown lands were sold, reducing royal income; it may have reduced the seriousness in the short term, but added to long term difficulties.





Candidates may point to the high rates of inflation, particularly at the end of the period, which were the worst of the century. Agricultural prices were rising at an alarming rate and, added to harvest failures made the 1590s the worst decade of the century. This problem cannot be overestimated as there is evidence of people dying from starvation. The problems were made worse by the continued expense of war with Spain and the problem of dealing with unrest in Ireland. 





























June 2012 Paper – Examiner Report





This question produced many general answers and some strong responses. Informed answers discussed social and economic issues – decline of cloth trade; moving the staple from Antwerp due to Netherlands Revolt; the rising population; Inflation; the effects of the long war against Spain 1585-1604; social instability and the Poor Laws of 1598 and 1601; the drift to the towns. 





Some answers failed to distinguish between financial and economic problems. Those that did so seemed better equipped to deal with the latter. Although candidates were aware of the importance of inflation, they seemed uncertain about its effects. In particular, few candidates were aware of the dramatic fall in the value of the subsidy or of the weakness of the system of assessment which was too deeply ingrained in the structure of local government to be eradicated. Some candidates looked at Elizabeth’s financial problems and others discussed England’s as a whole. However, the greatest discriminator was whether candidates were able to assess the severity of the problems, rather than simply explain what the problems were or what had brought them about. Many tried to compare these problems with others like religion and hence had long irrelevant sections. It was a common tactic to look at causes of problems, such as foreign policy, rather than consider how serious the problems were. Above all there was little understanding or discussion of inflation in the period. Many candidates don’t know the difference between economic and economical.

















June 2011 Paper – Examiner Guidance





No set answer is looked for but candidates will need to address the question. Candidates will need to identify the problems Elizabeth faced on her accession to the throne. Issues that might be discussed include government, finance, religion and foreign affairs. 





Traditionally, historians have argued that Elizabeth faced a difficult situation and many are likely to support this view and argue that the problems have not been exaggerated. However, some may put forward the opposite view. Although Elizabeth’s legitimacy was debateable it was unlikely that Philip would take action to place Mary Queen of Scots on the throne as that would increase French influence in England and weaken the Spanish sea route to the Netherlands. It might also be noted that he offered himself in marriage and therefore Elizabeth was not as isolated as has been suggested. The problem of war with France was also solved quickly although it did see the loss of Calais. Philip also did much to prevent Elizabeth’s excommunication in this period. Although Scotland is not mentioned in the Specification, some might consider the danger it presented, particularly given links with France.





The religious situation was difficult as Elizabeth was seen as illegitimate in Catholic eyes and therefore, even without her own beliefs, would have to follow a protestant direction. This was a serious problem as Mary had been able to successfully restore Catholicism. The problems facing Elizabeth in this area can be illustrated by consideration of the problems in the passage of the Religious Settlement. The financial problems were serious, but it can be argued that by ending the war and careful management of her finances Elizabeth was able to overcome the problem and this might be illustrated by reference to the surplus she would achieve. In government Elizabeth was fortunate in having good advisors and she was able to reduce the size of the Privy Council.





June 2011 Paper – Examiner Guidance





In the last years there was immense strain on the system of government. By the end of her reign Elizabeth was isolated at court and in her government because her associates had either died or retired. There were many who were waiting for a new king. The patronage system, in the hands of Robert Cecil, had broken down and this caused resentment. Nevertheless, she maintained a grip on affairs and her weakness and determination should not be underestimated. 





The last parliament did show a willingness of MPs to criticise her over a policy of monopolies that pointed directly at the crown. On the other hand, some will argue that her Golden Speech demonstrated her continued ability to diffuse opposition. It was really only after the 1601 parliament that she failed physically. The queen herself might have lost some popularity but the prestige of the monarchy was still high. The problems in the last years should be set alongside the achievements; she had brought about comparative religious peace, a stable ministry led by William Cecil and a forced peace on Ireland (although not achieved until after her death).





Some might argue that the lack of unrest during the period suggests that the popularity of the government had not declined, particularly as the social and economic problems of the 1590s were severe. The lack of support for Essex’s Rebellion might also be used to support this view. Elizabeth was also still popular among the populace, although the legend of ‘Good Queen Bess’ had not appeared in 1603. However, at a local level officials found it increasingly difficult to cope with the financial and administrative demands placed on it and these pressures, in the 1590s coincided with the social strains caused by harvest failures, food shortages and increasing inflation, all of which decreased the popularity of the government. There might be mention of the impact of the war with Spain and the financial problems it created. It might be concluded that Elizabeth had reigned too long and the succession of James was widely welcomed.





Jan 2013 Paper – Examiner Guidance





There are a wide range of issues that candidates might consider and it is unlikely that they will be able to cover them all, what matters is the quality of analysis. However, candidates must consider the importance of religion if they want to achieve the higher levels. Even if they conclude it was not the most important.





Some may argue that it was a serious problem as the country was religiously divided following Mary’s reign, although they might suggest that the greatest problem was that Elizabeth was protestant by inclination and most of the country catholic. The religious problem could also be linked to the fear of rebellion. Some might suggest that the scale of the religious problem was reflected in the difficulty Elizabeth had in getting the settlement through parliament. Some candidates might also link the religious issues with the foreign situation. Elizabeth’s position in 1558 was very vulnerable. She was not seen as the legitimate ruler by Catholics both at home and overseas. As a result Mary Queen of Scots was seen by many as the rightful ruler and her links with France further weakened Elizabeth’s position. England was also at war with France in 1558 and this added to the danger and was made worse when Spain made peace with France as it isolated England and left them open to the possibility of a Catholic crusade. However, this problem should not be exaggerated as it was unlikely that Philip would help to put a pro-French ruler on the throne of England. Philip even offered his hand in marriage to Elizabeth, so provided she did not alienate him her position was more secure. It was possible that there might be a Catholic rebellion at home, but without foreign leadership this was less likely and the Papacy failed to give a lead, hoping that Elizabeth might rejoin the catholic fold.





It was expected that Elizabeth would marry and that raised a number of issues over the choice, foreign influence and faction if she chose to marry an Englishman. However, she was also able to use the prospect of marriage as a tool to strengthen her position and buy time to secure her position at the start of her reign. The problem of the succession was crucial and parliament asked her in 1559 to name a successor. She also had to overcome the prejudices against female rulers following the reign of Mary, which had been reinforced by the disasters of the latter years of her reign. She also had to overcome the popular stereotype of women, which emphasised their physical, emotional and intellectual inferiority to men. There were social and economic problems to be dealt with in the aftermath of Mary’s reign. The reign also began with war against France and this created major financial problems.








Jan 2013 – Examiner Report





There was considerable variety in the quality of answers to this question. Weak answers either tended to accept the hypothesis with little sign of being aware that it could be challenged, or instead listed and then described the religious, diplomatic, administrative and political problems of 1558 with little attempt to advance relative judgement. On the other hand, this question was answered very well by many. Candidates produced focused answers and dealt with a good range of problems. Very few of the stronger candidates went too late into the reign for relevance.





Better answers showed both sound factual knowledge and clear analysis of the different factors. Some candidates blandly stated that several factors were linked, for example religion and foreign policy, but not all explained how that link came about and how Elizabeth responded to the challenge. However, there were a number of candidates who displayed a weak grasp of the foreign situation in the period and missed the opportunity to link the foreign and religious issue. A few answers went beyond the first few years of Elizabeth’s reign, but most concentrated on the period 1558 to 1560 or 1562.
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No yet published 
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This question elicited very mixed responses. The best were excellent, but there was a sizeable minority which showed significant, at times almost complete, misunderstanding of the question. Better answers were able to differentiate between and evaluate the methods Elizabeth employed to control her ministers across her reign, and were aware of the changes over time.





Some candidates focused on particular ministers, thus employing specific examples which were good; however too many candidates were making generalisations without having sufficient evidence to back up their argument. One pattern of under-performance emerged when the candidate was unaware of the meaning of the word minister. Some wrote generally about court or Parliament, conflating courtiers and MPs with ministers.
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Candidates can choose any problem, but they must deal with the named factor if they are to access the higher levels. Historiography is not a requirement of AS and reference to historical debate or the views of historians is not necessary for any level, however where candidates use it to support their argument it should be credited. In dealing with the issue of parliamentary privilege candidates might consider some of the following: free speech, elections and access to the Queen. Candidates might consider other issues such as religion, especially the religious settlement and the activities of Puritans, the problem of Mary Queen of Scots, marriage and succession, foreign policy at specific points, or financial aspects such as monopolies to supplement parliamentary privilege.
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There were few strong answers to this question, which was significantly less popular than the others. Few candidates grasped the concept of parliamentary privilege confidently, although several did raise the question of monopolies in the last few years of Elizabeth’s reign as an alternative choice to be the most important cause of problems. There were some who offered alternatives such as marriage or finance, but were unable to link these issue to the question of privilege.





A pattern of error emerges, as a proportion of the candidates confused government and parliament, which made it difficult for them to argue cogently whenever a question involving parliament or government or the Privy Council is mentioned. Some also struggled with the word privilege, and again were therefore unable to produce a developed or focused response.
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The issue of the succession was closely linked with marriage. It raised the issues of religion and security, let alone the prospect of factional disputes and unrest at home. As Elizabeth got older the succession also raised the possibility of an alternative focus from Elizabeth as courtiers looked to ingratiate themselves with her successor, as was seen with both Essex and Cecil. There was also the fact that the legal successor to Elizabeth, until 1587, was Mary Queen of Scots and the implications that brought, particularly as some saw her as the rightful ruler. Many candidates might link the issue of succession to marriage. It was expected that Elizabeth would marry on her accession, but the problem was who to marry?





Candidates are likely to be aware of many of the suitors but each of these presented insuperable difficulties of religion, age and even mental stability. Some may argue that proposals from Philip of Spain and Charles IX of France, Anjou and Alencon all had to be handled very carefully because of the power of their countries and therefore her foreign policy had to be careful, but candidates could argue that this was less of a problem as Elizabeth could play off the two countries against each other. The succession was an important issue because of the claim of Mary Queen of Scots as it raised major problems concerning religion and relations with both France and Scotland. Her French links proved a threat, whilst she was also a possible centre of opposition for Catholics both at home and abroad. There was the problem of the suitability of any domestic suitors, particularly following the death in suspicious circumstances of Dudley’s wife.





If Elizabeth married at home it would raise the issue of faction and the dominance and rewards that would go to the family. In the same way there was concern that an overseas marriage would lead to influence and dominance from abroad, memories of Mary’s marriage to Philip and the French war still influenced many.
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Those candidates who recognised the extent of what could be discussed in response to the question tended to do well: there were some strong answers which recognised that that the question of marriage posed problems for a female ruler in the patriarchal society of the sixteenth century; that Mary, Queen of Scots had a legitimate claim to the English throne and that Catholics could well consider it a stronger claim than Elizabeth’s own; and that as she approached the end of her life there was genuine concern about who would succeed, to the extent that her Privy Councillors were making secret approaches to James VI.





Weaker answers merely listed some of these aspects without seeking to make a judgement about which reason might be strongest, or indicating that the candidate was aware that the reasons might have changed in importance depending on what stage of Elizabeth’s reign was being considered. A small number tied themselves up in knots, suggesting that they had difficulties with the wording of the question. Some candidates dedicated their answer to writing about Mary, Queen of Scots. Some discussed Elizabeth’s own succession to the throne as well as issues with her successor. There were some good responses from candidates that had selected knowledge from a wider range of areas.
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This was a popular question, and some fine, balanced responses emerged, though a sizeable proportion found it hard to balance marriage and succession as factors. Not all found it easy however.





Candidates often described the various marriage proposals Elizabeth had rather than linking them to foreign policy and how far they affected it. Weaker responses made no mention or little mention of succession. Some interesting responses raised religion as a factor but only better responses were able to compare it to marriage and succession. There was some good use of evidence but in some instances there was confusion of the various suitors Elizabeth had. In terms of succession some candidates fell into the trap of describing the issues with Mary Queen of Scots rather than linking their significance with foreign policy. In weaker responses candidates found linking marriage and succession to foreign policy difficult.





Some were very unclear on the focus of the question. Some introduced a third option (often religion or economy) but too often did so very badly, largely because they had run out of things to say regarding marriage and succession.
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This was a popular choice of question and most candidates answered this alongside 14. Many could produce impressive detail and supported analysis of the extent of Elizabeth’s power. Most candidates were able to identify the problems Elizabeth faced and why it could be argued her power reduced. This was done successfully by candidates who were able to look at a range of examples of when royal authority was weak but then contrast this with relative strength.





Weaker responses simply described the issues Elizabeth faced with Essex and the Irish rebellion and sometimes the monopoly crisis was not fully developed to access the higher marks. Some candidates struggled with the timing of the question and focused most of their answer on Elizabeth from her early reign to the Armada rather than focusing on post-1588. The weakest essays were either confused about the date range of their treatment or could develop no more than description.
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